Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2018

Subject Name : Electrical Machine-I

Subject Code : 2TEO3EMC1 Branch: Diploma (Electrical)
Semester : 3 Date : 27/11/2018 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions:

a) Mechanical loss + Iron loss =
A) Hysteresis loss
B) eddy current loss
C) (A) and (B) both
D) Stray loss
b) Emf equation of generator is
A)E=IR
B) Eb = E+IR
C) E= @ZNP/60A
D) Eb=E-IR
c) Inthree phase voltage phase difference between any two phase is.........
(A)10° (B) 120° (C)90° (D)60°
d) Initially when motor is started speed of armature is
A)
B)O
C) Not Decided
D) Maximum
e) In brake test drum is connected on..................
(A) yoke (B) pole (C) Shoe (D) armature
f)  Color of earthing wire is
A)red
B) yellow
C) green
D) black
g) Inshunt motor T a
A) @
B) IL
C) Qla
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h)

)

k)

D) la?

D.C. Series motor is used in....................

(A) traction

(B) trolley car

(C) crain

(D) all above

Natural air cooling system of transformer is used for........
(A)low capacity transformer

(B)high capacity transformer

(©any transformer

(D)current transformer

For distribution purpose which transformer is used?
(A)ideal transformer

(B)Delta-star transformer

(C)Star-delta transformer

(D)None of above

The two windings of a transformer is

(A) conductively linked

(B) inductively linked

(C) not linked at all

(D) electrically linked

Pole is used to produce

(A) Current

(B) Voltage

(C) magnetic field

(D) None of above

In Swinburn test d.c. Machine is run as motor at....................
(A) full load

(B) low voltage

(C) high voltage

(D) no load

In Differential compound generator field winding is connected such that
A) both flux are additive

B) both flux are subtractive

C) (A) and (B) both

D) None of above

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

A
B

o >

Attempt all questions
Write comparison between Lap Winding and Wave Winding
Write down types of D.C. Generator and explain any two type of it.

Attempt all questions
Give parts of D.C. Generator. Explain functions of that with figure.
Explain 4 Point Starter for DC Motor

S Page 2 of 6

(14)

(14)



Q-5

Q-6

Q-7

w > W > ™ >

o >

b)

d)

Attempt all questions

Draw Winding diagram 16 Coil and 4 Pole DC Generator For Double layer Lap
winding. Also Write Connection Table.

210V, 4 Pole DC Shunt motor having a 10 mWhb flux/pole, 1810 armature
conductor connected in wave. If Armature Current is 50 A then find develop
Torque in Newton .Meter and Kg.Meter.

Attempt all questions

Derive EMf Equation of Transformer

In a DC 4 pole Lap Wound Generator having 60 Armature slot. Each slot has 22
conductors and flux per pole is 10.5 mWhb. Find out the EMF induced in
Generator when run at 1210 r.p.m. .

Attempt all questions

Draw and explain vector diagram of transformer.

What is auto transformer? Explain saving of copper in auto transformer.
Attempt all questions

Draw and explain accessories of 3-@ transformer.

Explain back to back test for transformer.

Attempt all questions
Explain speed control of the D.C. series Motor and DC shunt shunt motor.
Draw starting Characteristics of DC motors.

Attempt the following questions:

[Mslasa 1 + dls 4=
A) [sz2ldy o1

B) 2isl uals e

C) (A) vt (B) 6t

D) 22 44
64222 <l EMF <« ¥4
A) E=IR

B) Eb = E+IR

C) E= @ZNP/60A

D) Eb =E-IR

ol 5899 diezorHl oL diezsy 424 <Al 553 dsldd ............ S48

(A) 10 ° (B) 120 ° (C) 90 ° (D) 60 °

AU Hi HIZ2 AL UMY Al 25U 2
A) ©

_Q;)
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f)

9)

h)

)

K)

B) 0

C) 2A[A8A

D) HedH

615 222 Hi fHarerrerererenenens Y2 oY1LAIHL £

(A) s (B) 44 (C)azz (D) w2

w20l 9132 39 Al €14 9.
A) ald

B) ulul

C) dlal

D) sl

Az HIZZ HI T @

A)

B) IL

C) @I,

D) la’

LAl gell Hiz Al GludlaL =1y ¢,
(A) 259

(B) 21dl 512

(C) 554

(D) Guz Al o4l

2Le5IARHL AdRe 242 sallol Razen .. HIZ AURIA £

(A) 12l LAl 2115182

(B) G2 &HALL 21-U5192

(C) slFuRl  2lousldR
(D) s2  2loduSuR

(221022l G HI2 54 2145142 GUALIL 21X €97
(A) BHIEd 2Iu51H2

(B) dezl- 2212 2l-u51MR

(C) 2212-2€21 2leu 512

(D) GuzAL 5155 il

2ol o A1edfa

(A)sss2ladl dls 2aal ¢l &

(B)Sesszladl dls »aal sin &

(C)dls =Adl sidl 4l

(D) Sasilsdl dls axan i

Geled, 5391 HIS WA L BluAIRL 2, 9.
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(A) 522

(B) dlezoy

(C) Hat-les (e

(D) 215 upL <l

[Racotd WAL Hi Hiz Ll wellq Hizz <l oy 214 @,
(A) 54 @l

(B) 4l dlezsy
(C) w1 dlezsy

(D) -l @l
Slgreallnd SuIBs syz2z L sleg Alddlol vidl dld srisamlL 21U &9 5 el
(A) oied 55Ul UALOU AL
(B) vidd satsuil oilzousl A
(C) ol (A) 214 (B)
(D) Guz<l 515 <Al

Attempt any four questions from Q-2 to Q-8

Q-2

Q-4

Q-5

A
B

o >

o >

Attempt all questions
AY i, d4a ADEloL uvuuell s2.

ALl o2l USIRL AVAL hel dell SIHURL 6L USIRL HHMAL,

Attempt all questions
Yl 641222 Al RUOLL AHMAL BAL5[A A1A, Al 5141 syRUAL
ladl Hizz Wiz 4 uifhz 22122 eldld Auenal.

Attempt all questions

16 515e , 4 Ui AL £l or4223 HI2 Al gotd @aR @y AL <Al ABélol S
£IRL el dell 60130 HIZ o 2014 2alldl.

25210V, 4 Wia el ez 1122 i 598 [0d did 11 mWhb 244 44 i sxizd 1810
2UHA A5l €9, 671 UHAR <AL UAlg 50 A S Al 398U Adl 215 42422 Hi 21

-

(S Hl22.4i 2liMl.

Attempt all questions

21251242 L EMF < 943t dlzdl

25 44 @Y UG I 6y222 L LUNAR Hi 60 V2L &9 Bid £25 Ui 22 Alssl
£9.5¢8 WA Uld 10.5 MWb £9.671 241242 1210 r.p.m. &l A4 2044l 524l EMF
Bleuee 24,

Attempt all questions
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Q-7

o >

~ N

2LeA5lUR HI2 <Al 4522 SPUAIH £1<] 2l AHMAL.

~

BU2L 2L SR 212E 42 BU2L 2LAUSHRHL ALY A”d AHMAL
Attempt all questions
3-@ 2l Sl R0{l WsAUN €11 WA UMt AL

-~

2Le5IHR HI2 615 2 65 UALRL AHMAL

Attempt all questions

Al 20l Hizz vt £l gz Hizz dl 2eu (Rl Zdl axmal

SLAL Aelell et clal@ s AR .

AT
T 7,
)It: o1 C
Wess: 2

5
2
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